Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Fundamentals of Structure and Mechanical Engineering
Subject Code: 2TEO0LFSM1 Branch: Diploma (All)
Semester: 1 Date: 27/03/2018 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.
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Attempt the following questions:
-------- is used for governmental purpose?

1) Map 2) plan 3) both 4) none of these
Mild steel is brittle material

1) Yes 2) No
According to IS, the normal size of bricks is.

1) 20x10x 10cm 3) 10x10x20cm

2) 20x10x20cm 4)10x 20 x 10 cm

Which of the following details is not shown in site plan?

1) Areaof plot 2)southdirection 3) plot No. 4) address of plot
The number of water level indicator in a boiler is..........

1) Two 2) five 3) six 4) nine
The non-consumable electrode is used in

1) TIGwelding 2) MIG welding  3) carbon arc welding
Which of the following device is used to increase the temperature of saturated
steam without raising its pressure?

1) superheater  2) fusible plug 3) Air preheater 4) blow off cock
The gear used to convert rotary motion into translating motion is

1) Worm and wheel 3) Rack and pinion
2) Crown gear 4) Spiral Bevel gear

The oxy-acetylene gas used in gas welding produce a flame temperature of
1) 1800° C 2) 2100° C 3) 24000° C 4) 3200° C

Babcock and Wilcox boiler is...............
1) Fire tube boiler 2) water tube boiler  3) none of these

The Diesel engine is also known as .......... engines.
1) Compression ignition  2) Spark ignition 3) none of these
Which one is not included in geotechnical engineering?
1) measurement of rain water 3) soil bearing capacity
2) soil investigation 4) design of different type of foundation
I pascal =.............. N/m?
1) 100 2)1 3) 10 4) 1000
Iem=............. mm
1) 10 2) 100 3)0.1 4) 0.01

Attempt any four from Q-2 to Q-8:
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Give the differences between lime and cement.
Write short note on ingredients of concrete.
Give the classification of bricks according to its quality and application
Convert following W.C.B. in to Q.B.
1) 211%4° 2)325%30°
Write the names of different branches of civil engineering
Write differences between Map and Plan.
Explain economizer with figure.
Explain four stroke petrol engine with figure.
Give the classification of boiler.
Write difference between fire tube boiler and water tube boiler.
Explain working of centrifugal pump with neat sketch
Explain cochran boiler with figure.
Explain types of gear trains
Write advantages and disadvantages of oxy-Acetylene gas welding.
Write importance and application of power transmission.
Explain soldering and brazing.
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